=

oo

o
s A2

rlo

=
K

@ a>b L, a+ (-7)<b+(-7)
@ a>b LW, a®>b?

® a>b L, %a+2<%b+2

@ a<b%]x[fﬁ,—5a+§>—5b+§
® a>b%]“ﬂ,%>%(a¢0,b¢0)



2 2
(D?as?b @ -3a-1>-3b-1
a b
2a-5<2h-5 2273
® 2a-5< @323

1 1
_Z 1>-—-=b+1
® 3a+ 2 -3 +



500 @#te] Ahat 300 A A2 WS Foto]

5
2 o144 2000 ¢ olak7} 514 akefa gk ohe g 5
QLA Foh BAolch [ |t Bolg A Ei glog £8

® x-5 @ 500x + 300(5 + x)
® 0 @ 3



4.

ge
S T&E F5 Fo| T4
B 7 SAA F HeR

a

C

22 50 42 AT YT 5
g &4 st sttt §L &

ke 7H

3

1=
'—_TL

Ao 12 |2 7}A 1 Ut Fo

o

ahod e},

i}

rol



O s

@ 11 71¥

rlr
—

)
®

3000 Yo] 5o At} mwiF 3000 LA o
™

50000 Y2 |d7]

9 7H<4

12 71

=S
L.

® 10 714



A BAFof 5]710]= 4000 Y, £35]= 7000 ¥o] AFE ] Ut o
GHE S0l i 1000 YA, F3]+= 500 G4 of| Z9tchH S 7 o]
o] dlgfo] E35]9] of| FHH Tt wolz]= A2 E 7iE FHE A7

@ 4714 @ 5714 ® 6714

@ 7714 ® 8N



30 9 ol4o] Bl B T Abed 4000 9 SHe R 30% &
F9l8) Fi urEto] Girk. @ 1 ol golw 30 Bl B AF VL
A= o] frelgioh

® 2% @214 ® 2% @ 231 ® 24



o=

S

o] e o

}

3 ol o, 60 o] AR

e

132, 60 7 ©]

2o

slo
=

2930% &

ZO
ol

)|

@ 417 ® 427 @ 439 ® 449

@® 40 9



